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(B) 2
(C)
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27 The.emellest th‘ree d|g|t perfect
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(A). 7992
- (B) ‘80..00_
(C) 8008
(D) 8080
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< 15 T ST A G-

34 A number is when d!VIded by 6, the. L

‘quotient is 7 and the’ remalnder is o

3 that number w:ll ba- ' -
(A) 25 !

| B) 39

L© 45

35,
(A) 1 4

‘. (D) 54

The ratio of ?’ 1 to 25 paise is -

(B) 4% 1

c(C) 1: 2

(®y2:1 .

| tB);éODO

' (C) 9999

‘ 37.

38,

) '-‘ ‘will be -

The simplést value of 32 x 55 6 - -
~Ih plestv ue__ef35x O Miasn

(D) 9990 .

The sum of the pl'ébe value and face -

value of 8 in 28307 is'—

(A) 7992
(B) 8000
(C) 8008
(D) 8080

(A) 7 .
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The average of five. numbers IS 20

' '_ .|f the sum of ﬁrst four numbers is |
‘81 then ﬂfth number wnll be -' '

| ») 22

(B) 24

() 20

- (D) 19

_40.

41,
R «shown in Fgure is. 15 cm. The pe—"'-

W 20
(B) 25 cm

Square root of 5476 15 B,

C(A) 64

@) 68
Jee 72 | |

"(t)),: 74

‘The perlmeter of trlangle ABE as

, '.'rimeter of square ABCD w1II be-

p -t oset

< 15 cm -

(D) 12 cm’
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: '_..--It is sold at 20%. dlscount the saie., I

LI

The prmted pnce of a book ls T 75, s

. price of book wnll be= -
CoA) 's0 i

 (B).% 55

. (C) 260
' '-('D) '-'z" '6'5

R f

‘The Slmple mterest of? 56000 at_.,ll
“the ‘rate. of 4% per annum for 3.,
ot ,'years will be = i '
L) T6420. 0 ¢
(B) T 6720
(6 ?~7420 =

BCR 7620 1
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If a number is dnnded by |tself the_—.- _. ': _' |
-'1-';C|uot|ent wall be PR i D L

t“, _.'-..,,

' (B) the number itself

45,

- 46.
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e Ty same as remamder
_(D) 1

__"'Whlch of foHowmg are twin pnme s
- numbers - L

% “(A) 3, 11

(B).5, 7

© 3,7

s © _5!_17__

Value of (17+8 4>< 3~—1) |s- :
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“(B) 2

(C) 18
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K (A 7cm
J(B).14cm .
(C) 28em
(D) 39 éi-h |

b

1- 4 11-
100

111

1000 Tﬂqﬁ%{_ :

(A) 0.321.
(B) 0.123,

| (C) 1111

_49

-'50:

. RGNV/ZS

T (p)_-o.-1_111 )
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'(A)'-324ﬁ'12’ |

(3) es6mz -
(C) 675 mz'

(D). 780-m2_{ |

m;r%maﬁm% ;
(A) 34%
(_B) 25% .
(©17%
) 58%--
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: __"-49'.'

. 50,

47

Circumference of a ‘circle is88cm, -

_its dlameter w1ll be -
_(A) 7 cm”

'(_B) _14__.:.m___r“ B

(C) 28 cm

(D) 39 cm.

A 111

Vaiue of 100 1000

-.'(A) 0.321
(B) 0.123

(€)1l -

(D') 0-'1_1_41..1;, %

A Rectangular park is. 100 ‘m long

2t and 60 -m wide." There is a path

- (©) 675 m?

" '(A) 34%

."_(3)--'-555. m2

(DY 68%"

' 2m wide out5|de the park The area

of path is.-

~

(A) 324 m2
(D) 780 m?
EC .

.Value.of 25 In percentage is -

(B) 25%
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:-;'_"52 thICh of the fellowmg year is, a' ol

_53' E

;'f°$(C) Phooldgi _
(D), Nandashtar

S . -(A) Dehradun

- .-__celebrated on 2 October' :

s .-'.':'.:(A) Jawahar Lal Nehru, - Lo

(B3, Subhas Chandra Bose.?l_"' 4
| “{C) LaIBahadurShaﬂrz ‘
. _-"(D) None of. these |

";., i

v Leap Year - £ e
A '.2%5.,-.--' A Y
-a(B)'éOis N
2020
2022

'-(D)

s

_Th"é.folk festlval of. Uttarakhand"‘_-_.-- :
- ?;celebrated 11 days aﬂ;er Dlwah s

o M d & 4 e

- -5?4':'""‘-11‘ 10th day of a month IS S*aturday,"f - -'_

" _then 20th: d_ay__.tjﬁ' the
Tbg-- o

(A Sunday
.- (B) Monday"

' (C) Tuesday

(D) Wednesclay

-Indlan Mllltary Academy (‘IMA)

A tocated at TR SO

_.(B) Mus‘soone
Q) Nainital 7P
"(D) A!rnora !"'._"r_ "t
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(A) Nalmta _
(B) New_'Tehrl Sk e s
(C) MUSSDQI"Ie
(D) Ramkhet "
57 Whatwasthe orlglna"i_'a' e_of‘Jlm ;
: Corbett Natlonal Park!2 ., ,'
(A) RaJa Jie Natzonal Park
(B) Ram Ganga National Park
L A(C)- Kaiagarh Na‘ ior ai Park >
(D) Halley Natlona Pa__
e ".58, Whlch of the follomng'“‘&"-"bri:fiﬁi_a'rly
. matched? A e
(A) Ranlkhet Bageshwar ; e
- (B). Mussoorle Teh'ﬁ : o

(C) Kausani = Champawat e
(D) Lansdowne PaUl'l-Garhwal S

Whlch of the f' I-l"wm
properly matched’r'
(A) Hansull - Nec
(B) Bulak Ear

Ind |a'?

(A) Lal Bahadur Shastrl
(B) Sardar Vallalah Bhal Patel ': '
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‘Direction (Question No 61 to 65) 5" g

_64.-(A) Puducherry -

“In each of the foliowmg questions, Four
optlons are given. Three of them are

,- similar in some way but one- is odd.. | H
- Select the odd one=- - , :

61l (A) 'Bri_'ck-' |
' (B) Cement -
(’C)‘ House: :
(D) Rebar -
62, (A) Africa
- (B) Australia - |
- (C) F;I:).gland -

(D) ‘Europe’

il

(B) Dholak _ .
(C) . Dafi

(D) Tabla £

_ (B) Gujarat
(C) Uttar Pradesh et T L
.. (D) Punjab * . o

65_. (A) sSister-

(B) Friend
'--. (C~)__B|;qfh'eri |
(D) _Fé;tﬁer'
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(B) TEHA

ey 'qamé‘r
- (D), Wﬂf'ﬁf

e _,'-56.'8\,.,,3@41 S ¢ %15 P

- (A) T
. (B) @R,
ST W

(D) @?qﬁm'{

i (A)

. (B). W'FT

(o) Red e
__'(D) nﬁra?r

.'.-_(A) ﬁaﬁ‘ﬁ
*".(C)- SR

| -67.-.Country Prlme Minlster

e gy S

'69 Badrlnath Chamoll

i _;' : 70 Goitre

_*'-':_.Dlrectmn (Questlon No 66 to 70 ) e
In the follewmg questfons, choose the.‘ '
';'_correct option from the given alternatlves )
.Wthh replace question mark(7) iy

o 66 Uttar Pradesh ; Uttarakhand.,".' |

: '-Madhya Pradesh 2
. {A) Jharkhand '
~ (B) Ladakh
-~ (c) Chhattlsgarh S, B
(D) Bhopal )

(A) ChlefMlnister LIy
.-+ (B) “Home Mlmste,.
..(C) State MumsteI.
(D) pI'ESIdent o

\Kénﬁs.--i-?

= ._Astéfbid'_ s :
(B) Star

© (C) Planet. 3
. (D) So|ar System e

Yému,r_'\gfri- =
(A) Uttarkashl : :
(B) Rudraprayag -----
(C) Tehri '
' .'(D-)—.Gangqtr_ri Sy
Ib'cline
o (A) Vltamln
- (B) Blood
o (C) Tron
(D) Protein

1 Anaemia : ?

State 9.5 4
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171. 21, 23,27, 33, 41,. PR o]
. (A 50 "
@y 52
(C) 53
@) 51

';72,'.;AC FH, KM, PR g

L@ ux WA L.
5 (BYV
LI v () UW:
Ty

Joieraes

by ve
(B vE
§ECyuuEs
Y (D)’- Ve .

di TR S

(A) 225
(B) 243 .
; «(C) 256 _
4. (D) 237

i3, 7'1,_3.,',_'.q,:,z?r,'_s’_i,’..;._..-. TR |

374.:}2a Yb, Xc, Wt e S s

75. 100, 121, 144 169 196 ..... ER -5

ﬁ%ﬂ(mmﬁ -e75 ) : ﬁm‘%ﬁaﬁ Dlrectlon (Q No 71 to 75) : In the K

fol[owmg questlons, a sequence is

given. Select .the next term of

sequence from the g:ven ah:ematlves '

. 21, 23,27, 33, 41,
< (A) 50 |
By 52

(cy 53
(D) 51’

.'_AC FH KM PR..j_._.I..
. (A) UK |
';(B)Tv g __ i
" (C) uw cdy e 1 e B
_(D) e JETPA ._

1, 3 9 27, 81, L Tl
) 1217 N
LeoTH) 183 ot TR b o
o (C)243.
(D) 285 .

Za, Yb, X, Wd,..urvve

(A) Ue

By v
Ly
(@) ve .

”'-'?100 121, 144, 169 196..;;'.
AR), 2257, et

(B) 243" |

- (C) 256

) 3 _'
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- (B) 90°
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76

In a row. of students the posntlon |

J of Raw is 15th from the f“ rst and

also 15th" from the last.- Total
number of students in the row wrll o
" be- '

st (30 3
- B .29 ,j. --'-_(p)- 28

“.‘(A)_sou_'
_-(C):lzod;l-

78

:The angle formed by~ hour and _

minute hands of a, clock at 6 OD
am-would’ be= .. iy
(B) 900 g
(D) 1800 .~

.In .;'théf_:fo_li'owi'n_g- n u;m"ber.s' how .

_r‘nany"é are'orececle'd-'-and' suc-

- ceeded'by-an odd number.

(meo' 
'(C)' .‘-S'evel;\? o

5396536398965964'

9832 .
"-'(_B) Three -
' ('D)' _Ifot':r.' o

In the followmg words, whlch word

o wnll come lasti in Engllsh dlctlonary?.

Svh (A) Dlvlde |

- (E) Dlvest
8o,
" there in the following figures? N

-@js

(B) _Dlv;S{on “*
(D) Direct

How many total Rectangles are |

_-wfej_
(D)9

(C 7 e
' . ['Tarn Over]
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:fi ;l N the leﬁ: s:de ‘and. a question mark (?) has been glven in p!ace of fourth flgure A' SE S
- definite’ ‘relation-is established between first two problem figures.-The same type . -
“of relation should be between the third ancl fouirth fig igure. From'the’ answer fi gure.".‘ Bl

: “ % Ji-'f" nd out that: optlon wh:ch can be placed m the piace of questlon mark (7) o
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Directions (Questlon No. 91 to 95 ) In these questions, there is a problem ﬁgure :
in left hand side and answer fig igures are: in rtght hand sn:le Selectithe answer fi igure

- which is exactiy the same as problem 1'" gure
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Dlrectlons (Questlon No. 96 to’ 100 ) In each of the fo!lowmg questlons, a
probtem ﬁgure is given whose one- portton is incomplete Choose a ﬁgure from

-answer: F gures, whlch fulf‘ I the !ncomplete portion (?) of problem flgure
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